

Republic of the Philippines Philippine Carabao Center National Headquarters and Gene Pool Science City of Muñoz, Nueva Ecija Trunkline: (044) 456-0731 | (044) 456-0735

REQUEST FOR QUOTATION

						May 23,	
,ΟΙΛΙΡΔ	NY NAM						
	NY ADD	RESS:					
leadlin	quote yo e of subr	nission to	ffer for the item/s listed below, procurement@pcc.gov.ph or ueva Ecija. For any clarification	drop at the Procurement	condition provided, duly signed by au Section, Philippine Carabao Center, I 917-824-4374.	thorized representativ National Headquarters	e not later than & Gene Pool ,
	R	AFAELG	CRUZ			NOEMI V. BA	II AIS
		uyer/Car				Procurement (
				INSTRUC	TIONS:		
1	All goods offered must be inclusive of VAT, delivery charge, sales and other taxes, and incidental expenses.						
					ys from the deadline of submission.		
3	Warrant	y shall be	for a period of at least six (6) r	months for supplies and or	ne (1) year for equipment from date o	of acceptance by the Pr	ocuring Entity.
			nall be in calendar days.				
					egal document required, shall be atta	ched upon submission	of the Quotation
			mit brochures showing specific				
			ling the Approved Budget of the		ed. with the technical specification, financ	sial annum number land	
			condition stated herein.	dotation which complies v	with the technical specification, financ	ciai component, legal re	equirements, and
roject	Tielos	CLIDDIA	AND DELIVERY OF PASTELL	DIZED CADABAO'S NAILE	FOR DSWD REGION 4A - CAVITE		
			Contract:	3,677,640.00	Solicitation No.	2025-05-08	DCO BAF
	cu buug	or or the	contract.	3,077,040.00	Solicitation No.	2023-03-0	ODO IVIF
TEM No.	QTY	UNIT	ITEM AND DESC	RIPTION	OFFERED TECHNICAL SPECIFICATION/ SERVICES	BUDGET PER UNIT	QUOTE PER UNIT
1	193,560	pack	Pasteurized Carabao's Milk	180ml		19.00	
			- must be packed in Low Dens Plastic Sachet - should be properly labeled/ number, production & expiry refer to attached Terms of Re Conditions for complete deta	coded with the batch date			
		CHNICAL					
r OFF	ERED TEC	SI III BI COME	SPECIFICATION/ SERVICES				
Indica Non-c E MINL IPOR T	te the Sto compliand DER: Plea TANT: Bid	atement ce with th ase quote dder shall	of Compliance ("Comply" or "N ne minimum required specificat your best offer for the item/s. I follow all the applicable rules o	tions shall be rejected. Please do not leave any bl and regulations of Integra	imum required specifications for each lank items. Indicate " 0 " if item being c ated Management standards (ISO 900. e refer to Annex B)	offered is for free .	tained by the
Indica Non-c EMINE MPORT gency	te the Sto compliand DER: Plea TANT: Bid in relatio	atement of the with the search of the search	of Compliance ("Comply" or "Ne the minimum required specificat your best offer for the item/s. I follow all the applicable rules of formance of outsourced service.	tions shall be rejected. Please do not leave any bl and regulations of Integra s by the company. (pleas	lank items. Indicate " 0 " if item being c ited Management standards (ISO 900.	offered is for free .	tained by the
Indica Non-c EMINE MPORT gency	te the Storompliand DER: Plead TANT: Bid in relation Place of I	atement to with the with the see quote defended to perform to perf	of Compliance ("Comply" or "Ne minimum required specificat your best offer for the item/s. If follow all the applicable rules or the indicated DROP-OFF PC 180 calendar days	tions shall be rejected. Please do not leave any bl and regulations of Integra s by the company. (pleas	lank items. Indicate " 0 " if item being c Ited Management standards (ISO 900. e refer to Annex B)	offered is for free .	tained by the
Indica Non-c EMINE MPORT gency	te the Storempliand DER: Plea TANT: Bid in relation Place of I Delivery	atement te with the ase quote adder shall on to perf Delivery: a Period:	of Compliance ("Comply" or "Ne minimum required specificat your best offer for the item/s. I follow all the applicable rules formance of outsourced service. as per indicated DROP-OFF PC 180 calendar days	tions shall be rejected. Please do not leave any bl and regulations of Integra s by the company. (pleas	lank items. Indicate " 0 " if item being c Ited Management standards (ISO 900. e refer to Annex B)	offered is for free .	tained by the
Indica Non-c EMINE MPORT gency	te the Sto compliance DER: Plea TANT: Bid in relation Place of I Delivery	atement to with the with the see quote defended to perform to perf	of Compliance ("Comply" or "N ne minimum required specificat your best offer for the item/s. I follow all the applicable rules of formance of outsourced service. as per indicated DROP-OFF PC 180 calendar days	tions shall be rejected. Please do not leave any bl and regulations of Integra is by the company. (pleas DINT in the TOR	lank items. Indicate " 0 " if item being c ited Management standards (ISO 900. e refer to Annex B)	offered is for free .	tained by the
Indica Non-c EMINI MPORT gency	te the Stoomplians DER: Plea TANT: Bid in relation Place of I Delivery W Price	atement the with the with the with the same quotes and the performance of the with t	of Compliance ("Comply" or "N ne minimum required specificat your best offer for the item/s. I follow all the applicable rules of formance of outsourced service. as per indicated DROP-OFF PC 180 calendar days	tions shall be rejected. Please do not leave any bl and regulations of Integra is by the company. (pleas DINT in the TOR	lank items. Indicate " 0 " if item being c ited Management standards (ISO 900. e refer to Annex B)	offered is for free . 1, 18001, 45001) main	tained by the
Indica Non-c EMINI MPORT gency	te the Stoomplians DER: Plea TANT: Bid in relation Place of I Delivery W Price	atement the with the with the with the same quotes and the performance of the with t	of Compliance ("Comply" or "N ne minimum required specificat your best offer for the item/s. I follow all the applicable rules of formance of outsourced service. as per indicated DROP-OFF PC 180 calendar days	tions shall be rejected. Please do not leave any bland regulations of Integrals by the company. (please DINT in the TOR	lank items. Indicate " 0 " if item being of ted Management standards (ISO 900. e refer to Annex B) te you on the item at prices noted abo	offered is for free . 1, 18001, 45001) maint	
Indica Non-c EMINI MPORT gency	te the Stoomplians DER: Plea TANT: Bid in relation Place of I Delivery W Price	atement the with the with the with the same quotes and the performance of the with t	of Compliance ("Comply" or "N ne minimum required specificat your best offer for the item/s. I follow all the applicable rules of formance of outsourced service. as per indicated DROP-OFF PC 180 calendar days	tions shall be rejected. Please do not leave any bl and regulations of Integra is by the company. (pleas DINT in the TOR	lank items. Indicate " 0 " if item being o ted Management standards (ISO 900. e refer to Annex B) te you on the item at prices noted abo	offered is for free . 1, 18001, 45001) maint	
Indica Non-c EMINI MPORT gency	te the Stoomplians DER: Plea TANT: Bid in relation Place of I Delivery W Price	atement the with the with the with the same quotes and the performance of the with t	of Compliance ("Comply" or "N ne minimum required specificat your best offer for the item/s. I follow all the applicable rules of formance of outsourced service. as per indicated DROP-OFF PC 180 calendar days	rions shall be rejected. Please do not leave any black and regulations of Integrals by the company. (please DINT in the TOR Please of the TOR Please of the TOR of	lank items. Indicate " 0 " if item being of ted Management standards (ISO 900. e refer to Annex B) te you on the item at prices noted abo	offered is for free . 1, 18001, 45001) maint	
Indica Non-c EMINI MPORT gency	te the Stoomplians DER: Plea TANT: Bid in relation Place of I Delivery W Price	atement the with the with the with the same quotes and the performance of the with t	of Compliance ("Comply" or "Ne minimum required specificat your best offer for the item/s. If follow all the applicable rules formance of outsourced service. as per indicated DROP-OFF PC 180 calendar days	rions shall be rejected. Please do not leave any black and regulations of Integrals by the company. (please DINT in the TOR eral Conditions, I/We quote Name and Signature Designation	lank items. Indicate " 0 " if item being o ted Management standards (ISO 900. e refer to Annex B) te you on the item at prices noted abo	offered is for free . 1, 18001, 45001) maint	
Indica Non-c EMINE MPORT gency	te the Stoomplians DER: Plea TANT: Bid in relation Place of I Delivery W Price	atement the with the with the with the same quotes and the performance of the with t	of Compliance ("Comply" or "Ne minimum required specificat your best offer for the item/s. If follow all the applicable rules formance of outsourced service. as per indicated DROP-OFF PC 180 calendar days	please do not leave any blease do not leave any blease do not leave any blease by the company. (please by the company. (please by the TOR Please do not leave any blease by the company. (please by t	lank items. Indicate " 0 " if item being of ited Management standards (ISO 900. e refer to Annex B) te you on the item at prices noted abo	offered is for free . 1, 18001, 45001) mains	
Indica Non-c EMINE MPORT gency	te the Stoomplians DER: Plea TANT: Bid in relation Place of I Delivery W Price	atement the with the with the with the same quotes and the performance of the with t	of Compliance ("Comply" or "Ne minimum required specificat your best offer for the item/s. If follow all the applicable rules formance of outsourced service. as per indicated DROP-OFF PC 180 calendar days	rions shall be rejected. Please do not leave any black and regulations of Integrals by the company. (please DINT in the TOR eral Conditions, I/We quot Name and Signature Designation Email Address Tel. No./Cellphone No.	lank items. Indicate " 0 " if item being o ted Management standards (ISO 900. e refer to Annex B) te you on the item at prices noted abo	offered is for free . 1, 18001, 45001) mains	

TERMS OF REFERENCE AND CONDITIONS

ANNEX A

Project/Title	SUPPLY AND DELIVERY OF PASTEURIZED CARABAO'S MILK (PACKED IN 180 ML SACHET) FOR DSWD Region 4A Cavite (1 lot)		
Approved Budget for the Contract	Three Million Six Hundred Seventy-Seven Thousand Six Hundred Forty Peoss Only (PhP 3,677,640.00)		
Fund Source	DSWD		
Delivery Period	180 calendar days		
Billing Terms	Every 40 days		

Item No.	Unit		Quantity	ABC (per unit)	Budget for the Contract
1	Packs	PASTEURIZED CARABAO'S MILK	193,560		3,677,640.0
	MILK SPECIFICATIONS	Pasteurized Milk made of carabao's milk using PC formulations; sourced for cooperatives/farmers	C standard com local dairy	-	
	SHELF LIFE	Pasteurized Milk produ- least 9 days shelf life fro manufacturing.	rt should have at m the date of		
	PACKAGING	PM: 180 ML Pasteurized Low Density Polyethyle Should be properly labe with the batch number production and expirati	ne plastic sachets; led and/or coded and dates of		
	FOOD INGREDIENTS	Fully disclosed quality of with traceability report Certificate of Compliand water)	of quality tests and		
	GUARANTEED ANALYSIS	Certificate of Analysis (upasteurized milk sampl standards of at least 2% FDA microbiological qu Must pass the Sensory I Physio-Chemical Analysis following FDA	es in compliance to fat, 9.5% SNF and ality Evaluation, is and Microbial		
		Certificate of Compliand water) based on Guarar Analysis of milk ingredithe supplier, to be submonth prior the 1st del Water analysis should be month.	teed Certificate of ents provided by nitted 2 weeks to 1 ivery of milk.		
	RELEVANT CHARACTERISTICS	Presence in the market; months of experience in milk feeding program u produced carabao's mil Facilities: with owned cacility, and necessary eapproved toll processing	n implementing tilizing locally k airy processing quipment or		
		Cooperatives under toll submit a notarized sup a carabao-based organidairy farmers that produced volume of milk for the contact of the contac	oly agreement with zation or individual uces sufficient		
	SUPPLIER	If Coop/CSO, supplier organization that collect hold dairy farmers with	ts milk from small		

	If Coop, must be Cooperative Development Authority registered with updated Certificate of Compliance; If private enterprise, must have up an updated Certificate of Registration, Annual Income Tax Return, and Tax Clearance. Must have valid FDA-LTO as food manufacturer and/or trader or Sanitary Permit from LGU where the processing plant is located Milk shall be delivered to designated drop off points as agreed upon between DSWD Municipalities and supplier of milk
	Schedule of delivery shall be based on the schedule given and most preferred or as agreed upon by the supplier and receiving entities (changes may occur based on the capacity of supplier and length of procurement process)
	Pasteurized milk shall be delivered chilled/ frozen and packed in styro boxes/ ice cooler (with enough salt and ice mixture to keep the milk cold during transport) In the event that upon random milk sampling/testing of the milk produced and being supplied does not comply with the given PCC quality standard, the policy for quality assurance guidelines for sterilized milk should be applied. Milk suppliers must provide an accountability receipt signed by DSWD authorized representatives.
INSPECTION AND ACCEPTANCE OF MILK	Milk must be inspected and verified as to quantity and specifications, accepted and received by authorized DSWD representatives. In case of leakage or spillage, the supplier
	must replace the milk on the next day of delivery or as agreed upon between DSWD Focal and Supplier. The supplier must also bring replacement/buffer stocks of milk in case of rejects upon inspection.
	Reported spoiled pasteurized milk or that with physical contaminants upon delivery should be properly documented and replaced immediately according to PCC guidelines.
	Tampering of production and expiration date is prohibited and subject for punishment, policy guidelines will apply.
PAYMENT OF MILK	Payment of milk to supplier shall be progressive. Billing will be based on actual quantity delivered in a period of 40 calendar days.
	Supplier shall be paid based on the number of milk packs delivered in compliance to the Terms of Reference and Conditions

1

P P

	Suppliers must provide the following documentary requirements (properly filled up and signed over printed name)	
	Delivery receipt (DR) duly received by DSWD authorized representative	
	2. Inspection and acceptance report (IAR) duly signed/ accepted by DSWD authorized representative	
	3. Statement of account or Billing statement issued by the supplier	
	4. Copy of monthly certificate of analysis compliant to the milk quality standard.	

DROP-OFF POINT:

LGU (City/Muncipality/Province)	Address	No of Beneficiaries	No of Feeding Days	Total No of Packs
Alfonso		63	120	7,560
Amadeo		70	120	8,400
Carmona		150	120	18,000
Cavite City		160	120	19,200
General Mariano Alvarez		160	120	19,200
Indang		50	120	6,000
Kawit		120	120	14,400
Maragondon		90	120	10,800
Naic		100	120	12,000
Noveleta		70	120	8,400
Rosario		150	120	18,000
Silang		110	120	13,200
Tanza		120	120	14,400
Ternate		100	120	12,000
Trece Martires City		100	120	12,000
TOTAL		1,613		193,560

Prepared by:

ANNA REYLENE J. MONTES
Sr Science Research Specialist and Regional Milk Feeding
Coordinator, PCC AT UPLB